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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g-0’]]
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Trend plot forP3-9 0
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P3-9
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P3-9

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

07:10 283 150. 0 2.888 E[ BRi&e07:10 Bz (GRFAEREIEE
07:40 283 150.0 2.888 F  BRi%e07:40 Bz (GRAERESE)
08:55 283 150.0 2. 888 5| {Ri%@08:55 Bz (KRFAMERSE)
09:45 283 150. 0 2.888 E BRi%e09:45 BE1 (GRAERESE)
10:25 283 150.0 2. 888 F BRige10:25 Bz CGRAERSE)
10:55 283 150.0 2. 888 =l {Ri%@10:55 B3 (REAERSE)
11:25 283 150. 0 2.888 E BRige11:25 Bz CGRAERESE)
11:55 283 150.0 2.888 S {Ri%e11:55 Bz (GRAERSE)
12:25 283 150.0 2. 888 = {Rige12:25 B3 (REAERSE)
12:55 283 150. 0 2.888 E BRige12:55 Bz (GRAERERE)
13:25 283 150.0 2. 888 5| {Ri%e13:25 Bz (GRAERSE)
13:55 283 150.0 2. 888 = {RRiB013:55 B (RFAKESE)
14:25 283 150. 0 2.888 E BRige14:25 Bz (GRAEREE)
14:55 283 150.0 2. 888 5| {Ri%e14:55 B3 (RAERSE)
15:30 283 150.0 2. 888 =l RRiB@15:30 B (RFAEESE)
16:05 283 150.0 2. 888 =l RRiB016:05 Bz (REAKEE)
16:50 283 150. 0 2.888 El BRi&e16:50 Bz CGRAEREEE)
2it] 4811.0 (170%) 2550. 0 EWGHIKEC: 2200, PH: 5.6

HERRHEME S TEAERT (184.0 : 150.0), AIgEMF—RE XAH45
2RI\ EPRERE150. 0 ml.

FRBVEW S RFHRPH 5.6, HTHEAEHAZEEEEEPH, 5F A%
#H[EKECE (1847.0 vs 4583.0) 15

REVE WS K iKEC 2200. 0
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=70 (2025-06-11)

150 A

100 A

50

- : 3128
VI,V?nﬁﬁv,ET VI, V0, FVI, EVO, FRV, ad jFRV, ET

2300 260
952 2000

80
00 Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing
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optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-9

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:10 283 150.0 2.888 E|  {Rige07:10 Bah (RE{EREE)
07:45 283 150. 0 2.888 | {Rige07:45 B CGREHERSE)
08:20 283 150. 0 2.888 E 1BRi&e08:20 Bah (RAERE)
09:10 283 150.0 2. 888 5| {Ri%@09:10 Bz (FRAERSE)
10:05 283 150.0 2. 888 =l RRi8@10:05 Bz (RFAEESE)
10:50 283 150.0 2. 888 =l RRiB010:50 Bzh (RAEEE)
11:25 283 150. 0 2. 888 =l Rige11:25 Bz (GRAEESE)
12:00 283 150.0 2. 888 =l {Rige12:00 B3 (RAERSE)
12:35 283 150.0 2. 888 S| {Rige12:35 B (REAERSE)
13:05 283 150. 0 2.888 E| {Rig@13:05 Bzh (RE{ERSE)
13:40 283 150.0 2.888 F BRige13:40 Bz CGRAERESE)
14:15 283 150.0 2. 888 S| {Rige14:15 B3 (REAERSE)
14:50 283 150. 0 2.888 E BRige14:50 Bz (GRAERSE)
15:25 283 150.0 2.888 F BRige15:25 Bz CGRAERSE)
16:05 283 150.0 2. 888 =l {Rig016:05 B3 (RAERSE)
16:55 283 150. 0 2.888 E BRige16:55 Bz (GRAERERE)
Bt 4528.0 (16)%) 2400. 0 EWGHIKEC: 2190, PH: 5.6

HERRHEME STEAERT (184.0 : 147.0), AIgEMF—RE XAH45
BRI\ SEPRIERL147.0 ml.

FRBVEW S RFHRPH 5.6, HTHEAEHAZEEEEEPH, 5F A%
HEIRECE (1887. 0 vs 4847.0) 05

HERFE Y S RFHREC 2194.0



P3-9_0, Day=69 (2025-06-10)
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P3-9

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

06:20 283 150.0 2. 888 FA| 1B2i%@06:20 B3h (KAB{EREEE)
08:15 283 150.0 2.888 (Z=| {Ri%@08:15 Bzl (FAERSE)
09:05 283 150. 0 2.888 |Z=| {Ri%e09:05 Bz (KREAZHE)
10:20 283 150. 0 2.888 |Z=| 1Ri%e10:20 Bzl (GRAEREE)
11:15 283 150. 0 2.888 |Z=| {Ri&e11:15 Bz (REERSE)
12:15 283 150. 0 2.888 |Z=| {Rige12:15 Bz (REEZBE)
13:20 283 150.0 2.888 [|/hFu| {Ri&e13:20 Bz (REEZEBE)
14:00 283 150.0 2. 888 FA| {Ri%@14:00 Bz (GRAEEE)
14:40 283 150.0 2.888 FR| {Ri%@14:40 Bz CGRAERE)
15:30 283 150.0 2.888 |Z=| {Ri&e15:30 Bz (GGREAEZEBE)
16:55 283 150.0 2.888 |Z=| {Ri&e16:55 Bz (REAEZERE)
23t 3113.0 (110%) 1650. 0 B FKEC: 2130, PH: 5.8

HERRHEME STEAERT (184.0 : 147.0), AIgEMF—RE XAH45
BRI\ SEPRIERL147.0 ml.

RBEVE WS KHBPH 5. 77, BTHERNAZIFEIEEPH, 5F3hiA%
#[EKECE (1897.0 vs 5037.0) 5

FRBIFE NS RIFEREC 2126.0
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P3-9_0, Day=68 (2025-06-09)
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